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	 50											10	 =	 5	

	 20	 5	 =	 4	

	 3	 7	 =	 21

	 14	 10	 =	140	

	 42	 6	 =	 7	

	 5	 8	 =	 40

	 4	 10	 =	 40	

	 21	 3	 =	 7	

	140	 2	 =	 70

	 7	 10	 =	 70

	 40	 4	 =	 10	

	 36	 6	 =	 6

	 7	 4	 =	 28

	 70	 10	 =	 7

	 72	 8	 =	 9

	 50	 5	 =	 10	 	 20	 4	 =	 5	 	 3	 8	 =	 24

	 35	 7	 =	 5	

	 5	 7	 =	 35	

	 9	 6	 =	 54

	 4	 8	 =	 32	

	 4	 9	 =	 36	

	 36	 9	 =	 4

	 35	 5	 =	 7	

	 6	 9	 =	 54	

	 54	 9	 =	 6

	 8	 4	 =	 32	

	 36	 4	 =	 9	

	 80	 8	 =	 10

	 7	 5	 =	 35

	 54	 6	 =	 9

	 32	 4	 =	 8

	 32	 8	 =	 4

	 9	 4	 =	 36

	 8	 10	 =	 80

Choosing	the	operation

Write	either	x	or	÷	in	the	box	to	make	the	number	sentence	true.

Write	either	x	or	÷	in	the	box	to	make	the	number	sentence	true.

6	 7	 =	 42	 24	 6	 =	 4	 10	 2	 =	 5

	 7	 9	 =	 63	

	 9	 7	 =	 63	

	 64	 8	 =	 8

	 5	 5	 =	 25	

	 7	 7	 =	 49	

	 9	 3	 =	 3	

	 63	 7	 =	 9	

	 9	 9	 =	 81	

	 8	 8	 =	 64

	 16	 4	 =	 4	

	 49	 7	 =	 7	

	100	 10	 =	 10

	 63	 9	 =	 7

	 81	 9	 =	 9

	 25	 5	 =	 5

	 4	 4	 =	 16

	 3	 3	 =	 9

	 10	 10	 =	100
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